hA10x35 - 4x

M12x70 - 2% [A)
M12x70 - 2% (1)
M12x16 - 3x (C)
MI12x19 - 1x [C)

.‘@ MI12 - 2x (A, 1)

PPI10 - 4x
PP12-2x (A, I)
PP12 - 4x (C)

&

PMI10 - 4x

M12x16 - 3x
MI12x19 - 1x

M12x90 [10.9) - 2x
110 Nm

AT 400 12 4

M12x70 - 2x

SKODA FELICIA
Kod: S0846(A.1.C) 18. 8. 2022




